
TX40TX20

48h
1hx2

0,
06

 m
į

x2 >0
,0

2m
įK2/K3

x2 HIC
<60

617 135 TX30PZ1

[cm]

v013
23.11.2020
A. H.

WD1456



  1
70

  

  4
3 

 

  145  

0,00

  62  

[cm]



  145  

  6
2 

 

  1
50

  

  R150  
  150  

  R
15

0  

  1
50

    R150  

  R
15

0  

  150  

  R150  

  445  

  3
62

  

[cm]



48h
1hx2

0,
06

 m
į

x2 >0
,0

2m
įK2/K3

x2

20
30

40

C.

A.

B.

m
in
.2
0

R10
45Á

20
30

40

C.

A.

B.
  5

5 
 

  4
0 

 

  1
5 

 

  5
5 

 

  1
5 

 

K2 K3

-5

-40

0.00

K1

  4
0 

 

  40    4
0  

0,
06

 m
į

x2
Ï8

3x   M8x120   (K2)

NOT
INCLUDED

3x   M8x120   (K3)

4x   M10x120   (K3)

NOT
INCLUDED

4x   M10x120   (K2)

Ï10

  7
  

  87  

[cm]



142100
x1

K3K2

142108
x1

142102
x1

K1 K1

142103
x1

142136
x1

K2 K3

142137
x1

  1
59

  

141262
x4

1421216
x2

141260
x1

141261
x1

994121
x1

14715990
x1

HDPE
11x 8x50 sxi 1x WD46

2x 6x50 sxs 1x WD47

1x WD1 1x WD48
1x V001 1x WD49

[cm]



[cm]



WD46
HDPE

  1
0 

 

0,00

8x50 sxi

0,00

HDPE

WD47

  4,5  

  2
7 

 

8x50 sxi

TX40 617 135

WD64
HPL

HDPE

WD47

[cm]



WD48
HDPE

WD48
HDPE

WD48
HDPE

TX40 617 135

HDPE

WD49

8x50 sxi

6x50 sxs

TX30

  2  

  1
9 

 

  4,5  

  2
7 

 

[cm]



WD1

000000-00000

00000
000000-
Part No:

V001

  1
0 

 
  1

2,
5 

 

0,00

TX20PZ1

[cm]


